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! Question Description A panchayat with a population of more than 5000 but not more than 8000, shall consist of -------- number of members as

per the table under Sec.7 of Goa Panchayat Raj Act

A 5

B 7

c 9

D 11

E None of the above
Correct Answer C

Marks 1



Question Description Which one of the following is thought to be the sub-cast of the main tribal communities of Goa?

A Gowdas

B Kunbis

c Velips

D Dhangars

E None of the above
Correct Answer C

Marks 1



Question Description Konkani as one of the languages spread geographically more along the coast than across the Deccan plateau. Which of

the following factors affected the present pattern of distribution of Konkani?

A The presence of natural barrier like the western Ghats.

B Lack of physical interaction between coastline and Deccan Plateau.
c ‘A’ is correct but ‘B’ is doubtful.

D Both ‘A’ & ‘B’ are correct

E None of the above

Correct Answer D

Marks 1



4 Question Description Which of the following statements are correct?
1)The preamble embodies the intentions of the founding fathers and objectives of the Constitution
i1)The word Socialist in the preamble aims to eliminate inequality in political and religious matters
1i1)The Solemn resolution in the preamble of the Constitution of India is made in the name of the people of India
iv)The Preamble of the Constitution of India is solemnly resolved to secure to its people Fundamental Rights ,
Fundamental Duties and Directive Principles

Choose the correct answer from the code given below:

A Only (i) and ( ii ) are correct

B Only (i) (ii) and (iii) are correct
c Only (i) and (iii) are correct

D Only (iii) and (iv) are correct

E None of the above

Correct Answer C

Marks 1



Question Description Approximately % of Population of Goa found in the river Mandovi or Madei basin as per 2011 census.

A 58%

B 53%

c 56%

D 57%

E None of the above
Correct Answer C

Marks 1

Question Description The Lokpal and Lokayuktas Act 2013 came into force from
A December 1,2013
B January 1,2014

c January 16,2014

D December 18, 2013
E None of the above
Correct Answer C

Marks 1



Question Description Any person who contravenes the rule of maintenance of secrecy of voting under Sec.30 of the Goa Panchayat raj Act,

be punished with imprisonment for a term which may extend to

A one month or with fine or with both

B three months or with fine or with both
c Six months or with fine or with both
D one year or with fine or with both

E None of the above

Correct Answer B

Marks 1



Question Description A Panchayat with a population of more than 2000 but not more than 5000 shall consist of -------- members .

A 3
B 5
c 7
D 9
E None of the above
Correct Answer C

Marks 1



Question Description Equal pay for equal work for both men and women has been laid down in the Indian Constitution as, one of the

Directive Principles of State Policy in

A Art.39

B Art. 51T A

c Art.44

D Art.38

E None of the above
Correct Answer A

Marks 1



10" Question Description Which of the following Section of Goa Panchayat Act deals with Corrupt Practices

A Sec.23

B Sec.26

c Sec.29

D Sec.30

E None of the above
Correct Answer A

Marks 1



1" Question Description A retired judge of High Court cannot

A Practice in any court of India
B Practice in any High Court of India
c Practice in the Supreme Court
D Practice in the High Court from where he is retired
E None of the above
Correct Answer D
Marks 1
12" Question Description Which State’s Chief Minister has launched a mobile anti-corruption app called 1064 Anti- Corruption Mobile App?
A Assam
B Bihar
c Uttarakhand
D Goa
E None of the above
Correct Answer C

Marks 1



13

14

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

The rice variety cultivated in Khazan lands of Goa are belong to;
Xerophyte

Hydrophyte

Halophyte

Mesophyte

None of the above

C

1

Reasonable restrictions on Fundamental Rights can be imposed by
President

Supreme Court

Prime Minister

Parliament

None of the above



15 Question Description In the context of governance, consider the following
i. Encouraging foreign direct investment inflows

i. Privatization of higher educational institutions

i. Down-sizing of bureaucracy

iv. Selling/offloading the shares of Public Sector Undertakings

Which of the above can be used as measures to control the fiscal deficit in India?

A 1, 11 and 1ii

B i1, 1ii and iv

c i,1i and iv

D 1, 111 and iv

E None of the above
Correct Answer B

Marks 1



16 Question Description The Sarpanch shall, upon a requisition in writing by not less than ----- of number of members call an extrodinary
meetings of the Gram Sabha within 30 days from the receipt of such requisition.

A one third

B one fourth

c one sixth

D one tenth

E None of the above
Correct Answer D

Marks 1



7" Question Description If any arises as to whether a member of a Panchayat has become subject to any disqualification referred to Sec.10 of

the Goa Panchayat Raj Act , it shall be referred to --------- for decision.
A Collector
B State Election Commission
c Secretary of Panchayat
D Block Development officer
E None of the above
Correct Answer B

Marks 1



18 Question Description There are certain exemptions with respect to the information that can be provided under RTT Act 2005

A True

B False

c True, but the exemptions apply only for the first 120 days after the enactment of the Act.
D False, the Supreme Court of India has ruled that there cannot be any exemptions

E None of the above

Correct Answer A

Marks 1



19" Question Description The Strength of the Legislative Council of any state cannot exceed --------- of the total strength of the Legislative

Assembly. Fill the blank by using the correct option.

A One —half

B One —third

c One —fourth

D One —fifth

E None of the above
Correct Answer B

Marks 1



20 Question Description Which of the following is/are features of good governance
i. Participation

i. Transparency

i. Accountability

iv. Responsiveness

Select the correct answer using the codes given below

A 1,1ii, v

B i, iil, iv

c 1, 11, 1ii

D All of the above

E None of the above
Correct Answer D

Marks 1



21 Question Description Name the editor of the Gomantak periodical published from Bombay.

A Dr. Julido Menezes

B Dr. Armando Menezes

c Ramchandra Nayak

D Balkrishna Waman Savardekar
E None of the above

Correct Answer A

Marks 1



22 Question Description Which of the following is not an action proposed by radical feminism as a means to defeat patriarchy?

A Women coming to recognize their own values and strengths

B Women uniting across their differences and forming a sisterhood of trust
c Women joining female networks in the workplace

D Women uniting across classes to overthrow the capitalist system

E None of the above

Correct Answer D

Marks 1



23 Question Description Which of the following year declared as International Women’s Year

A 1960

B 1965

c 1970

D 1975

E None of the above
Correct Answer D

Marks 1



24 Question Description Which scheme helps in the prevention of trafficking and provide support for rescue, rehabilitation, reintegration and

repatriation of women?

A Ujjawala scheme

B STEP scheme

c Priyadasrshini Scheme
D DWCRA

E None of the above
Correct Answer A

Marks 1



25 Question Description Arrange the following events in chronological order and select the correct answer from the codes given below.
(1) Gomantakiya Tarun Sangh
(i1) Azad Gomantak Dal
(i11) Goa Seva Sangh

(iv) Goa Congress Committee

Codes:
A (i) (i) (iii) (iv)
B (iv) (iii) (@) (ii)
c (iif) (1) (iv) (if)
b (iv) (i) (iii) (if)
E None of the above
Correct Answer D

Marks 1



26

Question Description

A

Correct Answer

Marks

Who organised the Rashtra Seva Dal?
Nilkanth Karapurkar

Vishwanath Lawande

Jaytantrao Tilak

Vinayak Mayekar

None of the above



27 Question Description

A

Correct Answer

Marks

The swadeshi ideology was advocated by
Bernardo Peres da Silva

Padre A.F.X. Alvares

Ligorio da Cunha

Fr. Andre Furtado

None of the above



28 Question Description Duty of the State to raise the level of nutrition and the standard of living and to improve public health is a Directive

Principle mentioned in

A Art.47

B Art. 48

c Art.49

D Art.50

E None of the above
Correct Answer A

Marks 1



29 Question Description Marmugao taluka represents a densely populated area because of;,

A More population than the geographical area
B More employment opportunities

c High literacy and high urbanisation

D High birth rates

E None of the above

Correct Answer A

Marks 1



30" Question Description Who represented the National Congress Goa at the Casablanca conference of nationalist organisations of the

Portuguese colonies in 1961?

A Dr. P. D. Gaitonde

B Laxmikant Bhembre
c Purshottam Kakodkar
D Ram Hegde

E None of the above
Correct Answer A

Marks 1



31 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions below:

It is believed by many that the pharma industry in our country preys on pestilence for profits. As the primary sector
thrives under the benevolent monsoons, the food grain production may hike by hundreds of million tonnes. The
generous use of pesticide is said to be a key factor in this race for a quantum jump in agricultural productivity in the
country. On the basis of target species pesticides can be divided into four broad categories, namely, insecticides,
herbicides, fungicides and rodenticides. Presently, insecticides contribute to nearly 75 per cent of the turnover of the
pesticide industry. But in the West the trend is different: fungicides and herbicides account for the largest share of

consumption in those countries.

In the above passage “pestilence” is used to imply

rise in bubonic plague

increase in irritation

proliferation of pests

growth of disease

None of the above

C
1



32

33

Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions below:

It is believed by many that the pharma industry in our country preys on pestilence for profits. As the primary sector
thrives under the benevolent monsoons, the food grain production may hike by hundreds of million tonnes. The
generous use of pesticide is said to be a key factor in this race for a quantum jump in agricultural productivity in the
country. On the basis of target species pesticides can be divided into four broad categories, namely, insecticides,
herbicides, fungicides and rodenticides. Presently, insecticides contribute to nearly 75 per cent of the turnover of the
pesticide industry. But in the West the trend is different: fungicides and herbicides account for the largest share of

consumption in those countries.

The term used in the above passage to refer to the pesticide variant that targets “gnawing mammals” is --------

herbicide

insecticide

fungicide

rodenticide

None of the above



Comprehension Read the following passage and answer the questions below:

It is believed by many that the pharma industry in our country preys on pestilence for profits. As the primary sector
thrives under the benevolent monsoons, the food grain production may hike by hundreds of million tonnes. The
generous use of pesticide is said to be a key factor in this race for a quantum jump in agricultural productivity in the
country. On the basis of target species pesticides can be divided into four broad categories, namely, insecticides,
herbicides, fungicides and rodenticides. Presently, insecticides contribute to nearly 75 per cent of the turnover of the
pesticide industry. But in the West the trend is different: fungicides and herbicides account for the largest share of

consumption in those countries.

Question Description From the options provided below, identify the one that comes closest to the overall sense of the passage
A In India the trend is to prefer insecticides; in the West it is for herbicides and fungicides

B In India the agricultural consumption of pesticides is controlled; in the West it is not so.

c In India the turnover of pesticides is very high; in the West the situation is identical.

D In India the turnover of insecticides is high; in the West the trend is different.

E None of the above

Correct Answer A

Marks 1



34 Comprehension

Question Description

Correct Answer

Marks

Read the following passage and answer the questions below:

It is believed by many that the pharma industry in our country preys on pestilence for profits. As the primary sector
thrives under the benevolent monsoons, the food grain production may hike by hundreds of million tonnes. The
generous use of pesticide is said to be a key factor in this race for a quantum jump in agricultural productivity in the
country. On the basis of target species pesticides can be divided into four broad categories, namely, insecticides,
herbicides, fungicides and rodenticides. Presently, insecticides contribute to nearly 75 per cent of the turnover of the
pesticide industry. But in the West the trend is different: fungicides and herbicides account for the largest share of

consumption in those countries.

“The generous use of pesticide is said to be a key factor in this race for a quantum jump in agricultural productivity in
the country.”

In the above sentence, “this race” implies

the generous use of pesticides

a quantum jump in productivity

enhancement of agricultural productivity

key factor in agricultural productivity

None of the above

C
1



35

36

Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions below:

It is believed by many that the pharma industry in our country preys on pestilence for profits. As the primary sector
thrives under the benevolent monsoons, the food grain production may hike by hundreds of million tonnes. The
generous use of pesticide is said to be a key factor in this race for a quantum jump in agricultural productivity in the
country. On the basis of target species pesticides can be divided into four broad categories, namely, insecticides,
herbicides, fungicides and rodenticides. Presently, insecticides contribute to nearly 75 per cent of the turnover of the
pesticide industry. But in the West the trend is different: fungicides and herbicides account for the largest share of
consumption in those countries.

From the options given below identify the antonym of the word “generous” in the sense it is used in the passage

frugal

unkind

excessive

malevolent

None of the above



Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions below:

The World Health Organization is popularly known as W.H.O. in brief. It is a specialized agency of the United Nations
and was established in 1948. International health workers can be seen to be working in all kinds of surroundings: in
deserts, jungles, mountains, coconut groves, and rice fields. They help the sick to attain their health and the healthy to
maintain their health. This global health team helps the local health workers in stopping the spread of what are called
the communicable diseases, like cholera. These diseases can be spread from one country to another and so can be a
threat to world health. W.H.O. assists different national health authorities not only in controlling diseases but also in
preventing them. Total prevention is possible in a number of ways altogether in a number of ways such as vaccination,

spraying of houses with poisonous substances which kill disease-carrying insects.
Find a word or a phrase from the passage that means ‘contagious or infectious’
communicable

cholera

disease

disease carrying insects

None of the above

A
1



37 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions below:

The World Health Organization is popularly known as W.H.O. in brief. It is a specialized agency of the United Nations
and was established in 1948. International health workers can be seen to be working in all kinds of surroundings: in
deserts, jungles, mountains, coconut groves, and rice fields. They help the sick to attain their health and the healthy to
maintain their health. This global health team helps the local health workers in stopping the spread of what are called
the communicable diseases, like cholera. These diseases can be spread from one country to another and so can be a
threat to world health. W.H.O. assists different national health authorities not only in controlling diseases but also in
preventing them. Total prevention is possible in a number of ways altogether in a number of ways such as vaccination,

spraying of houses with poisonous substances which kill disease-carrying insects.

The phrase “international health workers” in the passage is used to imply that they

promote co-operation among all the nations

drawn from all the countries

belong to the whole world

work for the organization of many nations

None of the above



38 Comprehension

39

Question Description

Correct Answer

Marks

Read the following passage and answer the questions below:

The World Health Organization is popularly known as W.H.O. in brief. It is a specialized agency of the United Nations
and was established in 1948. International health workers can be seen to be working in all kinds of surroundings: in
deserts, jungles, mountains, coconut groves, and rice fields. They help the sick to attain their health and the healthy to
maintain their health. This global health team helps the local health workers in stopping the spread of what are called
the communicable diseases, like cholera. These diseases can be spread from one country to another and so can be a
threat to world health. W.H.O. assists different national health authorities not only in controlling diseases but also in
preventing them. Total prevention is possible in a number of ways altogether in a number of ways such as vaccination,

spraying of houses with poisonous substances which kill disease-carrying insects.

‘It 1s a specialized agency of the United Nations and was established in 1948.”

Here the word “specialized” means
extraordinary

expert

made suitable for a purpose
uncommon

None of the above

C
1



Comprehension

Question Description

Correct Answer

Marks

Read the following passage and answer the questions below:

The World Health Organization is popularly known as W.H.O. in brief. It is a specialized agency of the United Nations
and was established in 1948. International health workers can be seen to be working in all kinds of surroundings: in
deserts, jungles, mountains, coconut groves, and rice fields. They help the sick to attain their health and the healthy to
maintain their health. This global health team helps the local health workers in stopping the spread of what are called
the communicable diseases, like cholera. These diseases can be spread from one country to another and so can be a
threat to world health. W.H.O. assists different national health authorities not only in controlling diseases but also in
preventing them. Total prevention is possible in a number of ways altogether in a number of ways such as vaccination,

spraying of houses with poisonous substances which kill disease-carrying insects.

“W.H.O. assists different national health authorities not only in controlling diseases but also in preventing them.”
The above sentence implies that

W.H.O. assists more in controlling diseases than in preventing them

W.H.O. assists both in controlling diseases and in preventing them

W.H.O. assists in controlling diseases that have not been prevented

W.H.O. assists many others besides national health authorities

None of the above






40 Comprehension

Question Description

Correct Answer

Marks

Read the following passage and answer the questions below:

The World Health Organization is popularly known as W.H.O. in brief. It is a specialized agency of the United Nations
and was established in 1948. International health workers can be seen to be working in all kinds of surroundings: in
deserts, jungles, mountains, coconut groves, and rice fields. They help the sick to attain their health and the healthy to
maintain their health. This global health team helps the local health workers in stopping the spread of what are called
the communicable diseases, like cholera. These diseases can be spread from one country to another and so can be a
threat to world health. W.H.O. assists different national health authorities not only in controlling diseases but also in
preventing them. Total prevention is possible in a number of ways altogether in a number of ways such as vaccination,

spraying of houses with poisonous substances which kill disease-carrying insects.

“They help the sick to attain health and the healthy to maintain their health”.

Here, “they” refers to
surroundings of health workers
members of the W.H.O.
deserts, jungles and rice fields
international health workers

None of the above



41" Question Description Which Indian city was recently named the 'City of Literature' by UNESCO, making it the first city in India to receive
this distinction?

A Delhi
B Chennai
c Kozhikode
D Bangalore
E None of the above
Correct Answer C
Marks 1
42 Question Description Which university is launching its own satellite in India?
A Indian Institute of Technology Delhi
B Jawaharlal Nehru University
c University of Mumbai
D Aligarh Muslim University
E None of the above
Correct Answer D

Marks 1



43 Question Description Which country's women's hockey team won the gold medal at the Women’s Asian Champions Trophy 2023?

A India

B Japan

c China

D South Korea

E None of the above
Correct Answer A

Marks 1



44 Question Description Which Indian institute launched a Center of Excellence (CoE) called ATMAN to monitor air quality and enhance air

quality across urban and rural areas of India?

A IIT Bombay

B IIT Delhi

c IIT Kanpur

D IIT Madras

E None of the above
Correct Answer C

Marks 1



45 Question Description Who was awarded the 19th 'Kalakar Puraskar' for their contributions to Konkani music?

A John Aguiar

B Jhon d'silva

c Remo Fernandes

D Apolinaris D’Souza
E None of the above
Correct Answer D

Marks 1



46 Question Description When is International Day for Biosphere Reserves celebrated?

A November 3rd

B November 4th

c November 5th

D November 6th

E None of the above
Correct Answer A

Marks 1



47" Question Description Which global technology leader partnered with TATA Play Fiber to launch India's first WiFi6-ready broadband

network?
A Samsung
B Apple
c Nokia
D Huawei
E None of the above
Correct Answer C

Marks 1



48 Question Description Which cricketer became the first player to be timed out in an international cricket match?

A Angelo Mathews
B Shakib Al Hasan
c Tamim Igbal
D Mustafizur Rahman
E None of the above
Correct Answer A
Marks 1

49" Question Description Which country conducted a Minuteman I1I missile launch recently?
A Russia
B China
c UsS
D North Korea
E None of the above
Correct Answer Cc

Marks 1



%0 Question Description Rafah border crossing is located between which of the following?

A Egypt and Israel

B Gaza Strip and Israel

c Egypt and the Gaza Strip
D Israel and the West Bank
E None of the above
Correct Answer C

Marks 1



51

Question Description

Correct Answer

Marks

Power of Attorney refers to a legal document that gives an individual authority to act for another person in specified or
all financial matters. Which of the following situations is the best example of the Power of Attorney?

Mary is selling her apartment, and she hires a lawyer to evaluate the deal.

Due to illness, Tom's mother can no longer visit the bank to deposit money and cash her cheques. She has completed
some legal formalities to enable Tom to do such tasks for her.

Peter's father is elderly, so Peter thinks he is not able to make decisions, and he should make decisions on his behalf.
Tom completes all the formalities so that his father could open a retirement account with the bank.

None of the above



52 Question Description Pointing to a man in the photograph a woman said, "He is the son of my paternal grandmother's only son. How is the

man related to the woman?

A Brother-in-law

B Son

c Father

D Brother

E None of the above
Correct Answer D

Marks 1



%3 Question Description Choose the alternative which is closely resembles the water-image of the given combination.
bridge
(1) priqde (2) pLigds
(3) pr1gq@se (4) pLIp@es

A 1
B 2
c 3
D 4
E None of the above
Correct Answer B

Marks 1



%4 Question Description What are the missing numbers in this series, 15, 20, 24, 15, 28,32 15, , , 15?

A 37, 41
B 36, 40
c 38,42
D 40, 44
E None of the above
Correct Answer B
Marks 1
55 Question Description Look at the series; 41, 39, 35, 33,29, , which number should come next?
A 23
B 24
c 25
D 27
E None of the above
Correct Answer D

Marks 1



%0 Question Description Find the odd term from given alternatives.

A APO

B AOU

© IOE

o EIU

E None of the above
Correct Answer A

Marks 1



57 Question Description Paw: Cat :: Hoof: ?

A Dog

B Horse

c Elephant

D Lamb

E None of the above
Correct Answer B

Marks 1



%8 Question Description Mukesh walks 6 km toward the South and then walks 3 km to his left. Finally, he turns to his right and walks 6 km. In
which direction is he from the starting point?

A South

B South-West

c South-East

D West

E None of the above
Correct Answer C

Marks 1



%9 Question Description New Jerseys are bought for players. If 6 jerseys are given for each player, one player will get only 4 jerseys. Also, if 4

jerseys are given for each player, 30 jerseys will be remaining. How many Jerseys are bought and how many players

are there?
A 90 jerseys, 16 players
B 94 jerseys, 16 players
c 90 jerseys, 15 players
D 94 jerseys, 14 players
E None of the above
Correct Answer B

Marks 1



€0 Question Description In an interview panel, seven members are sitting in a row. A is in between D & F, C is in between F & G. G is between
C & E and D is in between B & A. Find the person sitting in the middle.

A D

B F

c B

D A

E None of the above
Correct Answer B

Marks 1



®1  Question Description In the morning, after sunrise, Ramesh and Suresh were talking to each other face to face at Rajnigandha crossing. If

Suresh's shadow was exactly to the right of Ramesh, which direction Suresh was facing?

A north

B east

c south

D data is inadequate
E None of the above
Correct Answer A

Marks 1



62 Question Description Find the word that names a necessary part of the underlined word

autograph
A athlete
B actor
c signature
D pen
E None of the above
Correct Answer C

Marks 1



©3  Question Description Manoj covered a distance of 50 m towards the North. He then turned to his left and walked 20 m. He again turned left
and walked 60m. Finally, he turned to his right at an angle of 45°. In which direction is he moving finally?

A South-East

B South-West

c North-West

D North-East

E None of the above
Correct Answer B

Marks 1



64 Question Description

Correct Answer

Marks

Here are some words translated from an artificial language.
plekapaki means fruitcake

pakishillen means cakewalk

treftalan means buttercup

Which word could mean "cupcake"?
shillenalan

treftpleka

pakitreft

alanpaki

None of the above



®5  Question Description Select the pair of words that are related to each other in the same way as the two capitalized words

PAPER:WOOD
A ink: colour
B brush: paint
c brick: clay
D cloth: dresses
E None of the above
Correct Answer C

Marks 1



®6 Question Description Arrange the following words in a logical sequence.

1. Room
2. Floor
3. Foundation
4. Walls
5. Ceiling
A 3,4,2,5,1
B 3,4,5,2,1
c 2,3,4,5,1
D 1,3,2,5,4
E None of the above
Correct Answer B

Marks 1



®7 " Question Description Find the word that names a necessary part of the underlined word

saddle
A horse
B seat
c stirrups
D horn
E None of the above
Correct Answer B

Marks 1



®8 Question Description Arrange the following words in a meaningful sequence.

1. Infection

2. Consultation
3. Doctor

4. Treatment

5. Recovery
A 1,3,4,5,2
B 1,3,2,4,5
c 1,2,3,4,5
D 2,3,5,1,4
E None of the above
Correct Answer B

Marks 1



®9  Question Description Owner of a branded shoe showroom earns 25% profit after giving 25% discount. Now, if he wants to give 10%

discount, what would be his profit percentage?

A 30%

B 40%

c 50%

D 60%

E None of the above
Correct Answer C

Marks 1



70" Question Description Raju’s age is three years more than four times Balu’s age. After five years, Raju’s age will be one year more than thrice
Balu’s age. What is Raju’s present age in years?

A 8

B 13

c 32

D 35

E None of the above
Correct Answer D

Marks 1



71" Question Description Find the missing number in the series; 196, 169, 144, , 100, 81.

A 111

B 131

c 121

D 141

E None of the above
Correct Answer C

Marks 1



72 Question Description Each of the following questions contains a small paragraph followed by a question on it. Read each paragraph carefully

and answer the question given below it.

The attainment of individual and organisational goals is mutually interdependent and linked by a common
denominator - employee work motivation. Organisational members are motivated to satisfy their personal goals,
and they contribute their efforts to the attainment of organisational objectives as means of achieving these personal

goals.

The passage best supports the statement that motivation -

A encourages an individual to give priority to personal goals over organisational goals.
B is crucial for the survival of an individual and organisation.

© is the product of an individual's physical and mental energy.

D is the external force which induces an individual to contribute his efforts.

E None of the above

Correct Answer A

Marks 1



73 Question Description Jonathan drives to the stadium for watching a football final. At 6.05 pm, one fifth of the way to the stadium, he passes a

church. At 6.15 pm, one third of the way to the stadium, he passes a poultry farm. At what time does he reach the

stadium?
A 6.45 pm
B 7.00 pm
c 7.05 pm
D 7.10 pm
E None of the above
Correct Answer C

Marks 1



74 Question Description

Correct Answer

Marks

It is called Restitution when you compensate someone for damaging his or her property in some way. Which of the

following situations is the best example of Restitution?

Tom borrows his friend's car and returns the car with an empty petrol tank. He apologizes and tells his friend that he

will fill the tank tomorrow.

Tom borrows his friend's camera. Tom fails to zipper the case, and the camera falls on the ground, and the lens

shatters. When Tom returns the camera, he tells his friend that he will pay for the damage.

Peter asks Tom to stay in his apartment when he is out of the town. One day Tom arrives to stay and finds that pipe has

burst and the apartment is filled with water. He calls the plumber to repair the pipe and pays for the repair.

A pothole in the parking of Peter's company caused his flat tyre. He informs his boss and expects that the company

should pay for the repair.

None of the above



75 Question Description Statement: A severe drought is reported in many states of the country.
Courses of action;
I. The government should immediately provide financial assistance to the people of the affected states.

II. The government should immediately send food, water, and fodder to the affected states to save people and livestock.

A Only I follows

B Only II follows

c Either I or II follows

D Neither I nor II follows
E None of the above
Correct Answer B

Marks 1



